Year 2 Measurement - Maths Day 7						21.7.2020  
Please look through the powerpoint to help you before you start these questions. Remember that you may need to use resources or paper to help you work out some of the answers.
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Reasoning
Remember the GD (gold star) questions are hardest questions so only complete them if you are confident you understand the learning.
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Super Challenge (Optional): 
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Answers: On the next page so please DO NOT look until you have finished your work first.
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1a. Which container has the largest
capacity?

How do you know?

1b. Which container has the largest
capacity?

How do you know?

2a. Use the words more, less or equal, to
‘compare the volume of column A with
column B.
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2b. Use the words more, less or equal, fo
compare the volume of column A with
column B.
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4a. Which container has the largest
capacity?
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How do you know?

4b. Which container has the largest
capacity?
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How do you know?

5a. Look at the comparison below.

Complete these statements using <, > and
= symbols.
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5b. Look at the comparison below.
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Complete these statements using <, > and
= symbols.
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How do you know?

7b. Which container has the largest
capacity?
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How do you know?
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8a. Look at the comparison below.
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Complete these statements using <, > and
= symbols.

8b. Lok at the comparison below.
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Complefe these statements using <, > and
= symbols.
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a. Grace knows that 34 buckets of water
willill one paddling pool or three-
quarters of a pond.

b. Sajid knows that 15 jugs of water wil
fill half @ kitchen sink or § buckets.

k that the capacity
of the pond is less than
the capacity of the

paddiing pool.

Ithink that the capacity
of the kitchen sink is
greater than the capacity
of the bucket.

Is she comect? Explain your answer.
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Is he correct? Explain your answer.
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Varied Fluency
Compare Capacity

Developin
Ta. True
2a. Ais less than B, A is more than B, A is

4a.8,A.C

Expected
Sa. False, the container is three-quarfers
full.

ba.= <>

7a.

three-
aquarters

8a. A, C, D, B (Discussion may arise over
widihs/heights and the different effects this
can have on the capacity).

W quaer e

Greater Depth
9a. False, fhe containers are the same.
capacity but have different volumes.
10a.< = >

11a. Guarter full, haif full, full

12a.8, D, C, A (Discussion may arise over
widihs/heights and the different effects this
can have on the capacity).

Varied Fluency
Compare Capacity

Developing
Tb. False, the confainer is nearly emply.
2b. Ais more than B, A is equal fo B, A is
more than B

b, —
W
oy
45.8,C.A
Expected

5b. False, the container is a quarter full
b, <

8b.8, A, D, C (Discussion may arise over
widihs/heighls and the difierent effects this
can have on the capacity).

Greater Depth
9b. True

10b.= <. <

11b. Full, quarler full, half full

12b.D, B, A, C (Discussion may arise over
widihs/heighls and the different effects this
can have on the capacity).
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Reasoning and Problem Solving
Compare Capacity

Developing
1a. A because the container holds 5 full
glasses. 8 only holds 4 full glasses.

2a. Ais less than 8, A is more than B.

3a. Jackson is not correct because the jug
only takes 5 glasses fo fil, the bucket
fakes 10 glasses.

Expected
4a. A because the container holds § full
glasses. 8 only holds 3 full glasses and 1
halffull.

sa.<,>

&a. Jacinta is correct because with the
same amount of water, more jugs than
buckets can be filled so the jugs must
have a smaller capacity.

Greater Depth
7a. 8 because the container holds 3 full
glasses and 1 half full glass. A only holds 2
full glasses and 3 quarter full glasses.
sa.>< <>

a. Grace is incorrect because
same amount of water, the pon:
three-quarters full but the paddiing pool is
full so the pond must have a larger
capacity than the paddling pool.

Reasoning and Problem Solving
Compare Capacity

Developing
1b. A because the container holds 7 full
glasses. 8 only holds & full glasses.

2b. Ais equalto B, A is less than 8.

3b. shelley is correct because it fakes 3
buckets more to fill the paddling pool.

Expected
4b. B because the container holds 4 full
glasses. A only holds 2 full glasses and 1
half full glass.

sb.>,

&b. pefer is cormect because with the same
amount of water, fills more jugs than
saucepans can be filed 50 the saucepan
must have a larger capacity.

Greater Depth
7b. 8 because the container holds 2 full

glasses and 1 quarter full glass. A only
holds 2 full glasses.

amount of water, 5 buckets can be filled
but only have of the kitchen sink so the
sink must have a larger capaci
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1a. The volume of the container is half
full. True or false?

Y

1b. The volume of the container is nearly
full. True or false?

v

2a. Use the words more, less and equal,

to compare the volume of container A

with container B.
A

2b. Use the words more, less and equal,
to compare the volume of container A
with container B.
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6a. Use <, > and = symbols to compare

the capacity of container A with

container B.
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6b. Use <, > and = symbols to compare
the capacity of container A with
container B.
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8a. Order these items from the largest 8b. Order these items from the smallest
capacity to the smallest capacity. capacity fo the largest capacity.
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9a. The capacily of container B is grealer
than the capacily of container A. True or
false?
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9b. The volume of confainer A is greater
than fhe volume of container B. True or
false?

10a. Use <. > and = symbols fo compare
the capacily of container A with
container B.
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10b. Use <. > and = symbols fo compare
the capacily of container A with
container B.
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11a. Describe the volume of cach
container.

11b. Describe the volume of cach
container.
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12a. Order these items from the largest
capacity fo the smallest capacity.
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12b. Order these items from the smallest
capacity fo the largest capacity.
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